C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a9 with the value of 900 or 9 hundreds?
A. 291 B. 9,314 C. 259 D. 3,951

Which choice has a 3 with the value of 3,000 or 3 thousands?
A. 97,613 B. 6,739 C. 43,165 D. 64,329

Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 65,193 B. 82,691 C. 84,763 D. 214,765

Which choice has a9 with the value of 90 or 9 tens?
A. 819 B. 793 C. 49 D. 19

Which choice has a 3 with the value of 300 or 3 hundreds?
A. 3,724 B. 783 C. 3,485 D. 315

Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 2,697 B. 38,926 C. 6,587 D. 72,619

Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 64,539 B. 18,967 C. 126,379 D. 39,462

Which choice has a2 with the value of 20 or 2 tens?
A. 296 B. 52 C.72 D. 24

Which choice has a 8 with the value of 800 or 8 hundreds?
A. 318 B. 8,632 C.738 D. 2,873

Which choice has a5 with the value of 5,000 or 5 thousands?
A. 6,513 B. 4,153 C. 1,285 D. 25,147

Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 14,385 B. 59,284 C. 245,839 D. 19,465

Which choice has a 6 with the value of 60 or 6 tens?

Answers

10.
11.

12.

C
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A. 326 B. 68 C. 286 D. 876
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Answer Key

Solve each problem.

1) Which choice has a9 with the value of 900 or 9 hundreds?
A. 291 B. 9,314 C. 259 D. 3,951

2) Which choice has a 3 with the value of 3,000 or 3 thousands?
A. 97,613 B. 6,739 C. 43,165 D. 64,329

3) Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 65,193 B. 82,691 C. 84,763 D. 214,765

4) Which choice has a9 with the value of 90 or 9 tens?
A. 819 B. 793 C. 49 D. 19

5) Which choice has a 3 with the value of 300 or 3 hundreds?
A. 3,724 B. 783 C. 3,485 D. 315

6) Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 2,697 B. 38,926 C. 6,587 D. 72,619

7) 'Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 64,539 B. 18,967 C. 126,379 D. 39,462

8) Which choice has a 2 with the value of 20 or 2 tens?
A. 296 B. 52 C.72 D. 24

9) Which choice has a8 with the value of 800 or 8 hundreds?
A. 318 B. 8,632 C.738 D. 2,873

10) Which choice has a5 with the value of 5,000 or 5 thousands?
A. 6,513 B. 4,153 C. 1,285 D. 25,147

11) Which choice has a 5 with the value of 50,000 or 5 ten thousands?
A. 14,385 B. 59,284 C. 245,839 D. 19,465

12) Which choice has a 6 with the value of 60 or 6 tens?
A. 326 B. 68 C. 286 D. 876

Answers
1. D
2. C
3 A
s, B
5. D
6. C
7 A
s D
9. D
0. D
u_ B
1. B
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